T s0 T 22aus e66T WAy  aavg]

V ezs  9YT3IA :AG PISINGY wowny

_{ ":D_m______.:mw_ ﬁ.. "_UL._un_m
Pea {4 YsIQg m,_OQ_D WO/ w=nu
| 07 e - A28y {3y woug julod paay 1v
G . | JO323UWUon 1, @dA] N, O3 32D2uuo>
S 0} padJdinbay suoipdag om)
Wk O Buipieaiys %007 B %BZ JA
IWYS Ayt AT1LJYX3 Saur] H10g puo = WO'E = wyo ¢/ 2626 uaplag

3s0|2 agq pPINOYs 1Nng U311l AlW3A0 |gN 8! YjiBuan

_A dIl  NId ~23Uaj 03} dIl NId 423ua3] ,91

2311014 S&50.JH ,,8/1 CES LT IT FFFIFIIFITTFT T

w2l-E-¢8Z-A "ON S3J40d Jous
Qo .641°0 OL umog payjzor ‘poy SS0.g pPNosg ,91/¢€

H30ONN JIAIN PUv ‘swypg 29 @9 |SNW @2uopeduw] unjog

ATTHATEEEATATEATEATATEATAA TARATAAAR AR AR RANAN

OI .ShOC*0 wdl = HB-HallA "OUN 51404 1JOMS ahZE 9
P «SH0C'0 = OI *1NOM 6200 ‘00 91/B —
0 W641°0 | |[g
3 A E1-Hh-8H11-A *ON S340d N0usg
e NoM 620°0 ‘00 wh/1 POy 850478 ,91./F
3INIT NNVE S804 PIY5
dIl F3apunoy
0
[q) o180 883 = 29 = o7 K. 180K W0°C = af .e5L0°0

42035 4BAUS ,B0'0 P J1/E JO Spow uadwnp

dU0d »2°g LJ0INDJ] ,C°/2 UD Pajluncl Uaym OPRZ- U0Yl) S§S58)] 10U ag |IM SSO07] UJNL3Y

ﬁ ) —




VE4MA 1296 MHz CIRCULAR POLARIZATION FEEDHORN

[}

| 3.2 in rt

1 0 Ul a
-l — 8.0 in —|>|<7 8.0 in—>\<7 8.0 in
15.375 in E_5| in — i

24 in
- 2.375 in
| | .|

e T

Alf screws are 14 - 20 BRASS |, 2.0 injong

1 Polarization screw spacingis 2.0 in
Polarization screw depth is apyprox 1.5 in

Nuliing post is 1.31 inlong, 7/16 in dia.

4.0 in L-—
Distance X can be varied for different £D ratios
XisdOinforf/Dof0.d

Polarizer screws shoukd be optimized after X is set
Drawing Not To Scale

UG 58A/U

VE4MA 96 02 27

Please Note that These Scalar Ring Dimensions are ONLY for a 6.5 in Dia. { W2IMU ) Main Feed



VE4MA 2304 MHz CIRCULAR POLARIZATION FEEDHORN

[}

—— 4.7 r:mr—

] O O Ul i
-~ — 9cm —|>|<71ﬂ.8 cm—b\‘fﬂj I
10 em i
| —_—

32 cm
B nonn 2.75cm

e T

Al screws are #10 - 32 BRASS |, 1.5 injong min
1 Polarization screw spacing is 2.7 em
Polarization screw depth is approx 2.4 em

Nulling post #10-32 screw: penetrates 1.2 cm

6.95 cm #10-32 Brass Nuis Soldered to Ouwtsicle of Horn for Screws
Distance X can be varied for different £D ratios
Xis6.25cmborf/Dofdd

Polarizer screws shoukd be optimized after X is set
Drawing Not To Scale

24 em

J.15em
"Insice Horn"

UG 58A/U

VE4MA 97 01 20



W2IMU 5760 MHz LINEAR POLARIZATION FEEDHORN

22 T
|
B.8cm 3 g |Cm
- G895 cm -
a0 Deg
-t 7.1 cm -
LIG-584A0)
Haole drilled for connector is 378 in (0.923 cm).
Main waveguide iz 1.5 inch Copper Water Pipe Connectar is supported on horn surface using 2 #4-40 screws,

then soldered. Do not allowy screvws to penetrate into main VWG,
Fill area under connector wath Eposy for mechanical strength

WEAMA BT 03 135



VE4MA 5760 MHz LINEAR POLARIZATION FEEDHORN

8 cm

Install finger stodk
if adjustment is desired

¥
1t 15 .:m-‘ =2 65 crrm]
‘ ] Distance X { cm) canbe varied for different /0 ratios
- + fiC) 05 045 040 035 030 0.25
| #14ANG LoNaise 2.13 2.27 265 284 3.1 32
HG-oBAU MaxGain 2.52 265 289 31 33 MNA
Haole drilled for connector is 378 in (0.923 cm).
Main waveguide iz 1.5 inch Copper Water Pipe Connectar is supported on horn surface using 2 #4-40 screws,

YEWH measured 1.12: 1 (256 dB return loss) With FHing then soldered. Do not allow screvws to penetrate into main VWG,

YEWWHR measured 1.08: 1 (28 dB Return Loss) Mo Ring Fill area under connectar with Epoey for mechanical strength
YEAMA 95 08 31



L A B S B R KN N .
: YNISAM PUOM )y A G6-£¢-L0 '$S0} Winjas

i S * 1594 JOJ paunuu) ag uea spinGanem uews Jo yb6ua) se
42325 buldaauibuy TVOS OL LON | Buersereonuoieysiadd, ) jo.ade) anaoq iuop

i _ , -sonel pyJaylo yumasn |
NYOHQ33d LEL-UM ZHW 09.8 ONIMYHA _ 10y sucnsaBBins Joj Buwerp yya Jeufiuo suaiejey ||

"8|qeueA Spewl 3q pinoyS wnumdo Jou s Aigeqoid
'‘Guw se1eas 10 Juolj u) , §z'0 SpInBarem Jenoad
| oy} jo Suwado ay) aseyd | 'y Jo P} Aw 03°
y adid , ') punoze J4f Jybi} & 8 0} JajaLBIp Ul Jaf|ews
fBiys 1n9 2q pmoys ues jo puo uj ajok "By, 0'3
e3 90§09 gj |, B Jo UOYISS W0j;0q S1 bull Jejeds 'y
"$50) WINJAI J53q J0) PAULL) 3]
ues ng wnumdo aq pinoys yibua) 2did Jadden ¢
ap 97 18 paInsesil §50° WY 7
"p3p{0s pue apmbasem Z¢1-4M Jo Yibus
poys e Jij 0) pouuioj sem adyd adid saddoo | §7), ay)

(wo 19°¢) (w2 pg°z) Jo pua 3y} ‘abuey) ZS1-UM HIM 3SN J0) 82 70 56
—  §— 7 0l 4 ojep J0 WoyYPaa) sejeas yiyyIA 2utblio passipol ')
(w2 £07) -
_ogel G 2)0U 32
(w 81°¢)
o ST1—
mmm.m_“_ | A \
PHINDYARM waigeh. s u 166
e (wapg'e). 5 e
(o 05'24} —
" «80° - “
EX NV R _
|

" JONVT4 LEI-4M HLIM N¥OHQ334 NOLLYZINY IO YN ZHI 0925

-



VE4MA 3456 MHz CIRCULAR POLARIZATION FEEDHORN

I U U ULl
FB.ch—l*ﬁT.Ecm*?.

B.6B cm

[
[)
3
- | 24 4 cm ) ~ !
1 0 uauili

B 75 crI

All screwss are # 10-32 BRASS | 2.5 cmlong
Folarization screwy spacing is 1.8 cm
Folarization screwy depth is 1.6 cm

[ulling post screws depth is 1.1 cm
A ain waveguide is two 255 mil juice cans
2c
I""'” D" VEWH measured 1.15 0 1 (23 dE return loss)

|zolation between ports 23 dBE
Folarization axial ratio 1.5 dB

16 cm

# 14 A0S | | | |
LIS 5847 Distance X can be waried for different /0 ratios

Hisd 2 omforfiDof 04
Folarizer screves should be optimized after X is set

4110 14



VE4MA 10 GHz COPPER WATER PIPE FEEDHORN

PART "C" *

50 -l —— APPROX. 3.8cm —
v om { Not Critical) ¢

PART "B"

)/ This Feedhorn is imfended to slip over the Open End of
a 3/4 inch Copper Water Pipe Waveguide. Part A
(The SCALAR RING) is formed froma 1/2 inch widle
Brass strip, sokdered o the surface of Part B. Part B
is a metal disk {(thickness not critical) soldered fo

- the outsiie of Part C, which is a standard "coupling” for
34 inch Water Pipe. These are made on severalforms,
but ry o obtain one with & centre dimple (not ring).
The dirple can be drilled owt and tapped o receive the
set screw. The setscrew is #4-d0 or Equivalent

PART "A"

- \ 1.25em/
0.5 in

The Distance along the Feed Pipe can be varied for different
FD ratios. The Open Face of the Scalar Ring is fush with End
of the Feed Pipe foran f/ D of 0.4

Drawing Not To Scale

VE4MA 97 08 15

Please Note that These Scalar Ring Dimensions are ONLY for a " 3/4 INCH " WATER PIPE



VE4AMA 24 GHz FEEDHORN

/ /FART i \

0.95 cm legg———372 o ———— =
59 cm# Not Critical N.T.5.

rarrTen Y

PART "D"

PART "A'

f‘ﬂ.ﬁi‘ﬁ CIM [ gy \
0.21 in

Part A .the SCALAR RING is formed from a piecefrom a "3/4" inch copper water pipe coupling 0.536 cm wide.

DRILL & TAP FOR #4-40 SET SCREW

Part B is a brass disk (thickness not critical) soldered to one end of Part A. Part B is intended to fit closely
over Part C, butis ableto slip back and forth to adjust for different f/Ds. The Open Face of the Scalar Ring is
flush with end of Part C for anf/ D of 0.4 . Part B is drilled and tapped to receive a #4-40 or equivalent,
which secures it against the outside of Part C.

Part C is a section of copper or brass "tubing” 11.1 mm outside and 95 mm inside.

PartD is a soft copper "3/8" plumbing coupler which is the correct diameter to he carefully soldered to the end
(butt jointed) of Part C. The other end of the coupler is formed "squeezed & shaped” to fitinside a WR-42

Waveguide flange and is soldered. VEAMA 99 05 21

Drawing Not To Scale




